#### **Integration (Indefinite Integrals)**

Q.1) (i) 
$$I = \int \frac{x^4 + 1}{x^2 + 1} dx$$
 (ii)  $I = \int \frac{x^3 + x}{\sqrt{x^4 + 1}} dx$ 

Sol.1) (i)  $I = \int \frac{x^4 + 1}{x^2 + 1} dx$ 

Degree of  $N^r >$  degree of  $D^r$ 

$$= \int \theta + \frac{R}{D} dx$$

$$= x^2 - 1 + \frac{2}{x^2 + 1} dx$$

$$I = \frac{x^3}{3} - x + 2 \tan^{-1} x + c$$

$$\begin{vmatrix} x^2 - 1 \\ x^2 + 1 \end{vmatrix} = \frac{x^4 + 1}{x^4 + 1}$$

$$-(x^2 + x^2)$$

$$-x^2 + 1$$

$$-(-x^2 + 1)$$

$$2$$
(ii)  $I = \int \frac{x^3 + x}{x^4 + 1} dx$ 

$$= \int \frac{x^3}{x^2 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^3}{x^2 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^3}{x^2 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^3}{x^4 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^3}{x^4 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^4}{x^4 + 1} dx + \int \frac{x}{x^4 + 1} dx$$

$$= \int \frac{x^4}{4} \int \frac{dx}{t} + \frac{1}{2} \int \frac{dx}{t^2 + x^2 + 1} dx$$

$$= \frac{1}{4} \log |x|^4 + 1 + \frac{1}{2} \tan^{-1}(x) + c$$

$$= \frac{1}{4} \log |x|^4 + 1 + \frac{1}{2} \tan^{-1}(x)^2 + c \quad \text{ans.}$$

$$\Rightarrow \frac{\text{Type:}}{1} \int \frac{1}{0 u d r a t d t} dx \text{ Make Perfect Square}$$

$$= \frac{1}{2} \int \frac{1}{2x^2 + x - 1} dx$$
Make perfect expare
$$= \frac{1}{2} \int \frac{1}{x^2 + x^2 - 1} dx$$
Make perfect square
$$= \frac{1}{2} \int \frac{1}{x^2 + x^2 - 1} dx$$
Make perfect square
$$= \frac{1}{2} \int \frac{1}{x^2 + x^2 - 1} dx$$
Make perfect square
$$= \frac{1}{2} \int \frac{1}{x^2 + x^2 - 1} dx$$
Make perfect square

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

$$\begin{array}{c} = \frac{1}{2} \int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{15} \cdot \frac{1}{2}} dx \\ = \frac{1}{2} \int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{15}} dx \\ = \frac{1}{2} \int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{3}} dx \\ = \frac{1}{2} \int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{3}} dx \\ = \frac{1}{2} \times \frac{1}{2x^{\frac{3}{4}}} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{3}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ = \frac{1}{3} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ I = \frac{1}{3} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{3} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{3} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{3} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{4}} dx \\ = -\int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{4}} dx \\ = -\int \frac{1}{(x^{\frac{1}{4}})^{2} - \frac{1}{4}} dx \\ = \frac{1}{2} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{\sqrt{x^{\frac{1}{4}}} - \frac{1}{4}} dx \\ = I = \frac{1}{4} \log \left| \frac{|x^{\frac{1}{4}} - \frac{1}{4}|}{|x^{\frac{1}{4}} - \frac{1}{4}|} + c \\ \text{In } \frac{1}{\sqrt{x^{\frac{1}{4}}} - \frac{1}{4}} dx \\ \text{In } \frac{1}{\sqrt{x^{\frac{1}{4}} - \frac{1}{4}}} dx \\ \text{In } \frac{1}{\sqrt{x^{\frac{1}{4}} - \frac{1}{4}}} dx \\ = \int \frac{1}{\sqrt{x^{\frac{1}{4}} - \frac{1}{4}}} dx \\ = \int \frac{1}{\sqrt{x^{\frac{1}{4}} - \frac{1}{4}}} dx \\ = \int \frac{1}{\sqrt{x^{\frac{1}{4}} - \frac{1}{4}}} dx \\ = \log \left| \left( x - \frac{3}{2} \right) + \sqrt{\left( x - \frac{3}{2} \right)^{2} - \left( \frac{1}{2} \right)^{2}} \right| + c \\ = I = \log \left| \left( x - \frac{3}{2} \right) + \sqrt{\left( x^{2} - 3x + 2 \right)} \right| + c \\ \text{ans.} \\ \text{(b)} I = \int \frac{1}{\sqrt{7 - 3x - 2x^{2}}} dx \\ = \int \frac{1}{\sqrt{7 - 3x - 2x^{2}}} dx \\ = \log \left| \left( x - \frac{3}{2} \right) + \sqrt{\left( x^{2} - 3x + 2 \right)} \right| + c \\ \text{ans.} \\ \text{(b)} I = \int \frac{1}{\sqrt{7 - 3x - 2x^{2}}} dx \\ = \int \frac{1}{\sqrt{7 - 3x - 2x^{2}}} dx \\ = \frac{1}{$$

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

$$2xdx = dt \\ xdx = \frac{dt}{2} \\ \therefore I = 3 \times \frac{1}{2} \int \frac{dt}{t} - \frac{1}{2} \tan^{-1} \left(\frac{x}{2}\right) + c \\ = \frac{3}{2} \log |t| - \frac{1}{2} \tan^{-1} \left(\frac{x}{2}\right) + c \\ I = \frac{3}{2} \log |x^2 + 4| - \frac{1}{2} \tan^{-1} \left(\frac{x}{2}\right) + c \\ \text{ans.}$$

$$(b)I = \int \frac{3-2x}{\sqrt{x^2+4}} dx \\ = 3\int \frac{1}{\sqrt{x^2+4}} dx - 2\int \frac{x}{\sqrt{x^2+4}} dx \\ \text{put } x^4 + 4 = t \text{ in (ii)} \\ 2x dx = dt \\ x dx = \frac{dt}{2} \\ I = 3 \log |x + \sqrt{x^2 + 4}| - 2\sqrt{t} + c \\ = 3 \log |x + \sqrt{x^2 + 4}| - 2\sqrt{x^2 + 4} \\ = 3 \log |x + \sqrt{x^2 + 4}| - 2\sqrt{x^2 + 4} \\ \text{ans.}$$

$$\Rightarrow \frac{\text{Type: Substitution and then } \int \frac{1}{Qua} dx \\ Q.5) \quad (a)I = \int \frac{\cos x}{\sin^2 x + 4 \sin x + 5} dx \quad (b)I = \int \frac{\sin(2x)}{\sqrt{\cos^4 x - \sin^2 x + 2}} dx$$

$$Sol.5) \quad (a)I = \int \frac{\cos x}{\sin^2 x + 4 \sin x + 5} dx \quad \text{put sin } x = t \\ \cos x dx = dt \\ \therefore I = \int \frac{dt}{(t+2)^2 - 4 + 5} dt \\ = \int \frac{1}{(t+2)^2 + 4 + 5} dt \\ = \tan^{-1}(t+2) + c \quad \text{ans.}$$

$$(b)I = \int \frac{\sin(2x)}{\sqrt{\cos^4 x - \sin^2 x + 2}} dx \\ = \int \frac{1}{\sqrt{(\cos^4 x - \sin^2 x + 2)}} dx \\ = \int \frac{\sin(2x)}{\sqrt{\cos^4 x - (1 - \cos^2 x) + 2}} dx \\ \text{put cos } x = t \\ -2 \cos x \sin x dx = dt$$

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

$$\sin(2x)dx = dt$$

$$\therefore I = \int \frac{dt}{\sqrt{(2^2(1-t))^2}} dt$$

$$= -\int \frac{1}{\sqrt{(2^2(1-t))^2}} dt$$
Proceed Yourself
$$-\log \left| \left( \cos^2 x + \frac{1}{2} \right) + \sqrt{\cos^4 x + \cos^2 x + 1} \right| + c \quad \text{ans.}$$

Q.6) (a)  $I = \int \sqrt{\sec x - 1} dx$ 

$$= \int \sqrt{\frac{1}{\cos x}} dx$$
Rationalize
$$I = \int \sqrt{\frac{(1 - \cos x)(1 + \cos x)}{\cos x(1 + \cos x)}} dx$$

$$= \int \sqrt{\frac{\sin^2 x}{\cos x + \cos^2 x}} dx$$
Rationalize
$$I = \int \sqrt{\frac{1 - \cos x}{\cos x}} dx$$

$$I = \int \frac{\sin^2 x}{\sqrt{\cos^2 x + \cos x}} dx$$
put  $\cos x = t$ 

$$\sin x dx = -dt$$

$$I = -\int \frac{dt}{t^2 + t}$$
Proceed Yourself
$$-\log \left| \left( \cos x + \frac{1}{2} \right) + \sqrt{\cos^2 x + \cos x} \right| + c \quad \text{ans.}$$

Q.7) (a)  $I = \int \sqrt{\frac{x}{a^3 - x^3}} dx$ 

$$= \int \frac{\sqrt{x}}{a^{3-x^3}} dx$$

$$= \int \frac{\sqrt{x}}{\sqrt{(x^{3/2})^2 - (x^{3/2})^2}} dx$$
put  $x^{3/2} = t$ 

$$\frac{3}{2}x^{1/2} dx = dt$$

$$\sqrt{x} dx = \frac{2}{3} dt$$

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.



$$e^{-x}dx = -dt$$

$$\therefore I = -\int \frac{dt}{\sqrt{t^2-1}}$$

$$= -\log |t + \sqrt{t^2-1}| + c$$

$$= -\log |e^{-x} + \sqrt{e^{-2x}-1}| + c$$
ans.
$$Q.9) \quad (a)I = \int \frac{\sin(2x)\cos(2x)}{\sqrt{9-\cos^2(2x)}} dx \qquad (b)I = \int \frac{\sin x + \cos x}{\sqrt{\sin(2x)}} dx$$

$$(c)I = \int \frac{\sin(2x)\cos(2x)}{\sqrt{9-\cos^2(2x)}} dx \qquad (b)I = \int \frac{\sin x + \cos x}{\sqrt{\sin(2x)}} dx$$

$$= \int \frac{\sin(2x)\cos(2x)}{\sqrt{9-\cos^2(2x)}} dx$$

$$= \int \frac{\sin(2x)\cos(2x)}{\sqrt{9-\cos^2(2x)}} dx$$

$$= \cot \cos^2(2x) \cdot \sin(2x) \cdot 2dx = dt$$

$$\cos(2x) \cdot \sin(2x) = -\frac{dt}{4}$$

$$\therefore I = -\frac{1}{4} \cdot \int \frac{dt}{\sqrt{3-t^2}}$$

$$= \frac{-1}{4} \sin^{-1}\left(\frac{\cos^2(2x)}{3}\right) + c \quad \text{ans.}$$

$$(b)I = \int \frac{\sin x + \cos x}{\sqrt{1-(1+\sin(2x))}} dx$$

$$= \int \frac{\sin x + \cos x}{\sqrt{1-$$

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.



$$\begin{array}{ll} \mathsf{Sol.10} \end{array} | (\mathsf{a})I = \int \frac{4x+1}{x^2+3x+2} dx \\ \mathsf{To} \mathsf{ make} & (2x+3) \\ & = 2\int \frac{2x+\frac{1}{2}}{x^2+3x+2} dx \\ & = 2\int \frac{2x+\frac{1}{2}}{x^2+3x+2} dx \\ & = 2\int \frac{(2x+3)-\frac{5}{2}}{x^2+3x+2} dx \\ \mathsf{Separate} \\ I = 2\int \frac{2x+3}{x^2+3x+2} dx - 2 \times \frac{5}{2} \int \frac{1}{x^2+3x+2} dx \mathsf{ in} (\mathsf{I}) \\ (2x+3) dx = dt \\ & \therefore I = 2\int \frac{dt}{t} - 5\int \frac{1}{(x+\frac{3}{2})^2 - \frac{1}{2} + 2} dx \\ & = 2\log |t| - 5\int \frac{1}{(x+\frac{3}{2})^2 - \frac{1}{2} + 2} dx \\ & = 2\log |x^2 + 3x + 2| - 5 \times \frac{1}{2x+\frac{1}{2}} \log \left| \frac{x+\frac{3}{2}-\frac{1}{2}}{x+\frac{3}{2}+\frac{1}{2}} \right| + c \\ & = 2\log |x^2 + 3x + 2| - 5\log \frac{x+\frac{3}{2}-\frac{1}{2}}{2x+4} + c \qquad \mathsf{ans}. \end{array}$$

$$(b)I = \int \frac{3x-2}{1-x-x^2} dx \\ & = \frac{3}{2}\int \frac{-2x+\frac{1}{2}}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x+\frac{1}{2}}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x+\frac{1}{2}}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x+\frac{1}{2}+1}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x+\frac{1}{2}+1}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x-1)^2}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x-1)^2}{1-x-x^2} dx \\ & = \frac{-3}{2}\int \frac{-2x-1}{1-x-x^2} dx \\ & = \frac{-3}{2}\int$$

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.

MMM studiestoday.

Copyright © www.studiestoday.com All rights reserved. No part of this publication may be reproduced, distributed, or transmitted in any form or by any means, including photocopying, recording, or other electronic or mechanical methods, without the prior written permission.